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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

2. All questions are compulsory

3. All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each " g

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you. :

9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
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marks questions. : ' :
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Y1-3 / SECTION-A

/

1 =g whEa 1 fafEn fas 20 Seavid s & T SIveE s iR s oy Fie 1
TS &1 Tl I AT ¢ |

Name the process by which unicellular freshwater organisms and most plant cells tend to
gain water.

2 foplt SeTERUl B <uted fF g ¥ TR ¥ A Frem T 9ge S o0 O Heeqy eRw el 1
Given an exarmiple to show that friction is an important factor in satisfying Newton’s third
law of motion.

3 'ﬁﬂﬁﬁmmmﬁﬁmmmmﬁﬁmwﬁmmwmm 1
gwifed g ? '

If mass of each of two bodies is doubled, what happens to the gravitational force of attraction
between them ?

4 -aawﬁaaﬁ#ﬁmﬁq%mmmml u‘gﬂamm@w@wﬁm!z
et s

State the principle used to separate two immiscible liquids of a mixture. Draw a neat and
labelled diagram of the apparatus used.

5 CO,, TFT O, T foF TR IR 6 SR a1 e 1 HLel € |

|
|
How do the gases like CO2 and O, move in and out of the cell ? _ ‘

6 ww fife fam sraeen ¥ e WROY % THEHH @0 e g Eﬁ'ﬂﬁSsﬂ:IOquﬂﬂq:Z
AT B A THR RO T HISC _ |

|
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A body starting from rest travels with uniform acceleration. If is travels a
distance of 100 m in 5 s. Find the value of acceleration ?

{

%ﬂmﬁmmﬁwmt 3

Explain the process of sublimation with the help of a diagram.

fllfafas & v & < 7700 1 Ieor@ Hifeig | ‘3
(@) W ) = © T
State two properties of each of the following :

(a). asolid (b) a liquid (©) a gas

~

o fordt ot & B2 fog & ) vam #1 foRtr 3ie ot €, o feed wve & @ S gHa gl 3
e (45 @ 8?2 w279 SeRy <ifee fad 98 W sraeiiehd aidl @ |

When a fine beam of light enters a room through a small hole, tyndall effect is observed. Why
does this happen ? Give one more example where this effect can be observed.

fall=fafea ¥ wfrefia =i yfu fafew) 3
(@) TRl &% AFEF W A |

(b) i 7

(© wRrHE|

Mention the role of epidermis in the following :
(a) In the aerial parts of the plant ?

(b) In leaves ?

() Inroots?

@) S as @1 Y fafae S v et § faemm fa R 3
(b) 9 FaH & THAF quH foAf@y |

(€  I€ Faw (o el e €2

(@  Name the animal tissue which is present in the larynx ?

(b) Write the chemical constituents of this tissue ?

()  What functions does this tissue perform ?
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YT 9 HqAT IUL (942 Frrerm gy F:r 33w ff Fifsm

A black and a red suitcase were tied to the car roof. It ta.kes 5 ropes to keep a black
suitcase from fallmg down a car while turning and only two ropes to keep the red
suitcase from falling down. What do you conclude about the relative weight of the
two suitcases? Justify your answer on the basis of Newton’s Law of motion. Also state
the Law.

fall=fafas o fadt 26 1 7fa & 397-999 % 1 994 @@ 8 3
.. :
t
v (m/s) '
0 4 -
t(s)—

(@) ATH & AR T i 7 TE SIS
(b) 0¥4sF AT d g w1 foeur & & wfiwfaa Fifsa)

The following velocity-time graph describes the motion of a truck :

t(s) —
(@)  Explain the motion of the truck according to the graph.
(b)  Calculate displacement and the acceleration of the truckin0to 4 s.

TEATO R R A TUh gt S N e R A e R T TS S g s aasd  whi, 3
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A heavy leather ball and a light tennis ball are kept on the floor of a moving train
when train is suddenly stopped, they are set in motion. In which direction will they
move? Which one of them will attain higher velocity?

15 T Hew W WEE 99 W10 s F g A’ §°B 79 Foohdl ¢ 396 a8 € S s W fagC a3
Fewdl ¢ | Hew @t Sied = aun fea a7 @ aiee

’

B B
7 6-5-4-3-2-TC 1 23 45 6 7
B = C A
e @ A¥B N (b)) AWC(BEN) F HEH HIWY|

A frog hops along as straight line path from point ‘A" to point ‘B’ in 10 s and then turns and
.hops to point ‘C’ in another 5 s. Calculate the average speed and average velocity of the frog

for the motion between.

7 6-5-4-3-2-101 23 45 6 7
B Meters C A
(@ (A)to(B) (b)  (A) to (C) (through B)

16 (a) 20N FH T TH G R o & FeH YR 9.8 N ¥ | IH T FT FHAA 1 I @O I 3
HITSTT | (594 m/s22)
b) e fizs & gaaqm 3R wR 7 &% & A=K faf@n|

(a) A force of 20 N acts upon a body whose weight is 9.8 N. What is the mass and acceleration
produced in the body ? (g594 m/s22) .

(b) Write any one difference between mass and weight of a body.
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G  Flg< wem F 5 o fafed
@) FlFe Ft & T o w= faeh = @ A fEfad |
(i) HY % GRS W < g farEn
Proper disposal of agricultural byproducts was a problem in thP; village. Santosh who had
came to his ances(g'alo\\gl,age during vacation advised the villagers to put up a’poultry farm to
overcome this i "ﬂey accepted his advice and introfduced‘c:ertain exotic breeds to

increase the number and quality of éggs and meat. Their combined decision helped in
providing balanced diet to all the villagers. '

X
(i) Mention any two advantages of adopting poultry farming. g O[\ 3)
_ o
(i)  Write name of one indigenous and one exotic breed of poultry. [_ Du
y g 9 _’)" = |
(i) Mention two values shown by Santosh. ¥ (/
6L
— L7
f W/ e

18 “aewa e ¥ e T ww w0 ¥ fou Flige #1  qun fale ’;ﬂ?kﬁﬁﬁﬁka
0 ST 1" A e o it o SeerE Ffe s ferw ¢ fened farefad it ot €1

“Cross breeding programmes between indigenous and exotic breeds of poultry birds focusses -
on desirable traits”. Mention any three such traits for which new varieties are developed.

19 (@) e e gR wefa S o v 3 ot & o Rl T dE E
b) T I fm Wi ge § AR ae SR 9w e

(a) Ilustrate an activity to demonstrate that particles of matter have spaces between
them.

(b)  Explain why a diver is able to cut through water ina swimming pool.
20 foeh o M i wifrg) Flefer vt F aer e S ¥ dvima S s

L
|V 0 O
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difeas [Jeiree, JEEH, S|, 24 $32 g9F, SFUdEeE 9, FEA|

Differentiate between an element and a compound. Categorize the following substances into
elements and compounds- sodium chloride, lodine, water, 24 carat gold, Oxygen gas, Carbon.

—

fall=feafaa sas! =f =t | 5
()  fuchifeadt saw faad @ & g9m S S & €

(i) 9 I I BRI T A M= F T 8§ | 0
(i) S T TS I TR ARG 0 6T Tl B T H H FeF el ¢ |

(iv) T TIed H 3N & oY e 98 F2H F €

(v) R Tash Hiuw B fame S Hifves | e )

Identify the following tissues :

()  The epithelial tissue which has pillar like tall cells ? Soamo U

(i)  The cells of this tissue are filled with fat globules

(i) The movement of this tissue pushes the mucus forward to clear respiratory tract.

(iv) It gives buoyancy to lotus to help it aﬂoat Axenchyma

(v)  Tissue present in lung alveoli Elﬂd . yn UsC) 0

2 a9 fow ¥ gem € A T 9D T w1 R, 39 Tw o e e S 5 .
3R e 1 ffyea 0 9 g2 & FrEm w1 S FIe) |
IOgWﬁﬁmFﬁFﬂ?ﬁWﬁlmm/sﬂ?aﬂﬁWWaaﬁﬁa?Wﬁ?ﬁﬂﬁ%sﬂ'{

0.03 s 3 91T &F S & | T TS @1 ferardt g 7 WM ? ARE! & T2 NI Tl WA T
T &1 9fam afEfea i

When a sailor jumps out of boat in forward direction the boat moves backward. Explain the
reason for this observation and state Newton’s law governing this observation.

A bullet of mass 10g travelling horizontally with a velocity of 150 m/s strikes a stationary
wooden block and comes to rest in 0.03 s. Calculate the distance of penetration of the bullet
into the block.

23 (a) - aﬁqﬁhm%ﬁﬁm@w@ﬂéaa@ﬁﬂwwﬁaﬁﬁamisﬁ 5

I FeAHE i THEEE 8, Ffd | '

®) gle v ¥ fed a5g & ot @ F A0EE €9 3 Hehedd Hifd |

© G o wrfe feriw 06 wea s R ?

(a)  Prove that if the earth attracts two bodies placed at the same distance from the centre

 of earth, with equal force; then their masses will be the same.

(b)  Mathematically express the acceleratlan due to gravity that is expressed by a free
falling object.

(c) Why is ‘G’ called a universal constant ?
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Write descriptive notes on : (i) Mariculture (i) Aquaculture (iii) Inland fisheries.

9P1-9 /SECTION - B

25 ﬁﬂﬁ%ﬁ%ﬁﬂ%ﬁﬁ#m%m%mwwm%%:

e " ot
Fu L AT
QA L+
- 247)  smirér feerrs
Frare faeaa )

() M @ N
The sample which will give positive result for the experiment of testing of metanil yellow in
arhar dalis: = ;
e ]
Crushed
aa |, Crushed Yellow dal pesate
A + 2
b&% l:mm conc hydrochloric Yellow dal Iofm,e
dil hydrochloric acid .t i
M acd (m  lodine
solution
(@ 1 (b) I
@ m @ v
26 FEEAfRERRw @AW
(@ TEHA (b) TR
)  en-wrem (@ U@
The colour of iodine solution s :
(@)  Colourless (b)  Pink colour
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| (©) Blue-black (d) Yellow-brown
27 ﬁ%%qﬂaw-w%ﬁwwﬁwmmiﬂ%: 1
@) W e ® Fen
© © (d ST
In a mixture of iron filings and sulphur, colour of sulphur powder is : ‘
(@)  paleyellow (F){’ blue
(<) green (d)  reddish brown

| 6w e few § v@ W ¥ o TR e T QR ¥ Wa fbm fee oW € 1
| q :

(a) T G A S €
| b) T fawmi faon s R )

© T A o R

@ o o gew & e o aRafia & S| €

In a china dish, when iron filings and sulphur powder are mixed together, then :
(a) _~ A homogeneous mixture is formed.
A heterogeneous mixture is formed.
(c) A compound is formed.
(d)  Physical properties of Iron and Sulphur are changed.

29 T SR & 50 mL B Gethe w1 qa faera o o SeE die & <ol F1 59 A Sl | S 1
= 59 T T feeTe @ sa T et & ferg g @ o fea A T S7aEY &1 {1
@ w@d ®)
© @ e
50 mL of saturated copper sulphate solution was taken in a beaker and small amount of iron |

filings was added to it. The beaker was left undisturbed for sometime. The mixture was then |
filtered to obtain the residue. The colour of residue was found to be : !'

(a)  steel grey (b)  yellow
i
(c) greenish blue (d)  reddish brown

Page 9 of 11



30 e e e 7 e Fllafatea & & 0o = @i ?

i/

() TE=EH b) s

© Dodeme d FEw

Which one of the following will you not find in the human cheek cell ?
(5)/ Ribosome ()  Nucleolus

(c) Chloroplast (d) Nucleus

31 Yfige 9 W F ifie Suftud S R
@ Uit = &R
b F=HA
() Uiy T F= F w9E &9 F o g
(@ e
In striped muscle fibers, nuclei are present :

(@)  inperiphery
(b) at the centre
(c) equally distributed in the centre and periphery

e

(@  diffused

32 T9F ¥ Sed o § 79 e faman < gehan € g1 :

(a) TSR (b)  TEEA

frE=A d) R fus s H we
Recovery of salt from salt solution in water can be done by :-

()  evaporation (b) distillation

(c) filtration (d)  dissolving in more water.

33 & o SER o fandd o R g Waa ¥ ge W fran S g R

@) o fermmerean ¥ @ ®
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© 3 (2) 30 ()

(d) I FTEE ©

When two equal and opposite forces act on an object, it will be observed that :

‘,(a‘)/ Object remains at rest
(b)  Object continues to move with constant velocity if it was moving

(c) Both (a) and (b)
(d)  Information is insufficient '

38 pky vye6vgx chdkiksa esa J{ks Kgvedkst kmMg] nve/] ckgye Pk feV~Vh es pkj Nk=Kksa dks tkkuh Mkgus ds fy. 2
gk xXA 1zKIr fed kksa dks okLrfod fog. dksykWbM rfkk fuyEcu esa oxhZd" r dhft.A

Four students were asked to add water to glucose powder, milk, sand and soil separately in
four beakers. Classify the mixtures as true solution, colloid and suspension.

35 (kiQZ dk xyukad rkk iy dk DoFkukad fMxzh IsfYL nFkk dsfYou iSekus esa fyflkA 2

Write melting point of ice and boiling point of water in degree Celsius and Kelvin scale.

I~

36 1o us Ip &d'Kkfe ks dk vkSy ke mlh vkdky b 1 ssa kheh gqbZ fklp £ "kfe Rksa dk pzfeka Khp F.EA vi]
fl'kfekksa dk nzdeku Tg gS vkS] Tah esa Hkhwh £5'%fe kksa dk nzOeku x g gS] rks (i) #d'kfe'kks 3kik
yo'kkst ke &y dh 1zfr'kerk Hydyu &k he=k fyflk, PRk (i) A0 x dk eka 10-5 g gks ks fd'kfe Kksa 3Kk
yo'Kksf” ke iy dh iz kerk fdruh gksih
Ravi took weight of five raisins and five swollen raisins of approximately equal size. If the
weight of raisins taken was 7 g and weight of swollen raisins is x g, then (i) write the formula
to calculate the percentage of water absorbed by raisins and (ii) if the value of x is 10.5 g then
what will be the percentage of water absorbed by the raisins.

Page 11 of 11



